






















𝑃= ​60°/180° = ​1/3  



















𝑃= ​ 2∙ ​𝑅/2  /2𝑅 = ​1/2 	



𝑃= ​1/3 	 𝑃= ​1/2 	

























𝑃= ​ ​𝐴↓𝑟 /​𝐴↓𝑅  = ​1/4 	

​𝐴↓𝑟 = 𝜋 ​𝑟↑2 = 𝜋​(​𝑅/2 )↑2 	

​𝐴↓𝑅 = 𝜋 ​𝑅↑2 	



𝑃= ​1/3 	 𝑃= ​1/4 	𝑃= ​1/2 	



Solución	1	

Solución	2	

Solución	3	



Solución	1	

Solución	2	

Solución	3	Yeeeeaaaah	



Trazamos aleatoriamente una cuerda dentro 
de un círculo.  

𝑃= ​1/3 	 𝑃= ​1/4 	𝑃= ​1/2 	



Trazamos aleatoriamente una cuerda dentro 
de un círculo.  

𝑃= ​1/3 	 𝑃= ​1/4 	𝑃= ​1/2 	

PARADOJA DE BERTRAND 







¡MUCHAS	GRACIAS!	


